Equal 9 step grey scaling betweeb* gn=14.4 andL*gav=95.9, Yoret=0.4, normalisation greyU

L*0anF14.4,L%0aU=55.2,L* 0aw=96.0, Yoan=1-8, Yoam23. 1, Yoan=90.0, Coay=Yoaw: Yoan=50.0
L*taN=16.3,L*tau=55.2,L*taw=95.5, Ytan=2.2, Ytau=23.1, ian=88.9, Gay=Ytaw: Ytan=41.1
Regularity index according to ISO/IEC 15775:2022, annex G for 5 and 9 steps

g* = 100 PL* min] / [AL* max], L* cleLaB = 116 [Y/Yn]¥/3 - 16 with Y >= 0,882,Y,=100

g%= 99, g%= 99 9%= 93, g%5= 91 g%= 98, g%5= 98
L*cieLaB  intended output real output linearized output
n0.i L*0a L*Or YOa YOr ;L*a Al*a L*r Yta (L*tr) 1103 *a Al*la
120+ :
9 960 10 900 10| 955 1.0 889 10 95.5
90—+ O 3 10.1 9.9
8 858 0.875 67.6 0.746 85.4 101 0.872 66.8  0.875 85.6 00
7 756 075 492 0538 753 10'1 0.745 488  0.75 75.8 g'g
1 @6 654 0625 345 0371 652 0618 343  0.625 658
60 ; 10.0 9.9
@5 552 05 231 0242 552 100 0491 231 05 55.9 00
@+ 450 0375 145 0144 452 0365 147 0374 460
@3 348 025 84 0075 353 99 024 86 0.248 36.0 99
30t S ' T e T ' ' 99
@2 246 0125 43 0028 256 03 0.117 4.6 0.124 26.1 o8
@: 144 00 18 00! 163 00 22 0.0 163

0 AL*.=10.2 i=1.2 8 3 normalisation: Yiaiu=Y, M
0a=10. (i=1,2,...,8) : + Ttaiu=T0al 0autYoref

eep70-7n



